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1071. Guunwntip gnudwpnid.
w) 3,82 + 41,705, q) 8,903 +152,9, &) 5,51 + 6,36,
p) 0,921 + 4,8, 1) 0,0032 + 1119,69, q) 0,002 + 0,00017:
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1072. Yuumwnptp gnidwpnid.
w)(-12) + (-3,4), g (-0,37)+(-623), ) (-1,001) + (-2,456),
P)(-875)+ (-1,25),  m)(-4,38)+(-2,04),  q)(-18,203) + (-0,41l)
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1074. flulmul‘ph'_iQ gnponnnipniuubpn.
w) 2 + 0,38, q) 100 + 0,096, t) 0,836 + 10,
p)1+15,07, 1) 20 + 4,097, q) 5,0001 + 18:
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1075. Lniotp hwjwuwpnudp.
w)z - 0,615=0,02, q)27=z-10,0001,
P)Z-182- 124,01, 1) 6541 -z — 5037,203:
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1076. Guwmwntp gnponnnipjniuubpp.
w) (6,93 +1,08) - 10 + (9,734 + 11,25) - 100,
p) (39,63 + 5,7) - 100 + (3,565 + 15,001) - 10:
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1077. Spywo tu 3,25 , 10,02 , 0,64 pytpp: Lpwughg Juqutp mwpptin
gnuiwputip b hwpytip npuup:




